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A[0]0]0]2|FiEER H 3 |30 4|43.12.31| BEHE |mmeroion 14 1.1 | #%
A|0]0]0]|2|mEECERR H 4 [30 4[43.12.31| BEFE |mmveiot 14.1.1 | #&
A[0]0]0] 2| CER H 5 |30 4|43.12.31| BEHE |mmercion 14 1.1 | #&
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Alololol2[FE = H 30 4E|43.12.31| FEEE |mmreion 14 .1.1 i
AlolololzmEree H 30 4E|43.12.31| FEEE [mmrceson 14 .1.1 K
Alololo] 2l ree H 10|30 4£[43.12.31| BEIE |mmxreiot 14 .1.1 i
Alololo]2lamr=e H 11130 4£]43.12.31| FEFE [mmerrexon 14 .1.1 K
Alololo] 2l ree H 12 (30 4£[43.12.31| BEIE |mmxresot 14 .1.1 A
Alololo] 2l mr=e H 1330 4£(43.12.31| FEFE [mmerrexon 14 .1.1 K
Alololo] 2o e H 14 |30 4£[44.12.31| BFEIE |mmxresot 15 .1.1 i
Alololo]2lomr=e H 1530 4£|45.12.31| BEFE [mmsrrexon 16 .1.1 K
Alololo] 2l ree H 16 |30 4£[46.12.31| BEIE |mmxresot 17 .1.1 i
Alololo] 2l mr=e H 17 |30 4£|47.12.31| BEZE [mmerexon 18 .1.1 K
Alololo] 2l ree H 18 |30 4£[48.12.31| BEIE |mmxrexot 19 .1.1 i
Alololo] 2l mr=e H 19 (30 4£]49.12.31| BEFE [mmerrexon 20 .1.1 K
Alololo] 2l reg H 20|30 4£(50.12.31| BEIE |mmxrexot 21 .1.1 i
Alololo]2lamr=e H 2130 4£|51.12.31| BEFE [mmerrexon 22 .1.1 A
Alololol 2= H 22 (30 4£(52.12.31| BEIE |mmxrexot 23 .1.1 i
Alololo] 2l mr=s H 23|30 4| 53.12.31| BEFE [mivveion 23 11] 24 1.1 | &
alololol2|aE e H 24 (30 4£54.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
Alololol 2o wr=e H 25 (30 4|55.12.31| BEHE [mmevexorf 25 1.1] 26 .1.1 |
alololol2|aE e H 26 (30 4£]56.12.31| BEFE |wmrreaor| 26 1.1 27 .1.1 AN
Alololol 2| wr=e H 27 |30 4| 57.12.31| BEFE [mivveion 27 1.1] 28 .1.1 | ik
Alol1lo]1 e xmees H 1 |30 4 [43.12.31| BEIE |mmxresot 14 .1.1 i
Aol ol [ Frexmess H 30 4E|43.12.31| FEEE [mmreeson 14 .1.1 K
Alol1lo]1 e xmees H 30 4F43.12.31| FEFE |mmxcrior 14 .1.1 A&
Aol ol [ Frexmess H 11 (30 4£[43.12.31| BE#E |mmerern 14 .1.1 K
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Alol1To] 1 e ximess H 12 (30 4£[43.12.31| FEIE |mmxresot 14 .1.1 i
Alol1]o| 1 |xrexmess H 1330 4£(43.12.31| FEFE [mmerrexon 14 .1.1 K
Alol1lo] 1 e xmees H 14 |30 4£[44.12.31| BEIE |mmxresot 15 .1.1 i
Alol1]o| 1 |xrexmess H 19 (30 4£]49.12.31| FEZE [mmerrexon 20 .1.1 K
alol1lol1 [ Arrexmess H 24 (30 4£54.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
ALO] 10| 1A P i % H 26|30 #|56.12.31) BESE |whrverr| 26 11) 27 1.1 |
Alol1lo] 2 e ximees H 22|10 4£(32.12.31| FEIE |mmxrexot 23 .1.1 i
A0 1] 0] 2 A5 il % H 23110 #|33.12.31] BESE |warveron| 23 L1| 2411 | #
alol1]ol2 [ Arreximess H 24 (10 4]34.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
AL 0| 1]0] 2 | AT X i i % H 25]10 4]35.12.31] BESE |macecrt25 11) 26 .11 | &
alol1]ol2 | Arreximess H 2710 4£37.12.31| BEFE |wmrreaor| 27 1.1 28 .1.1 AN
Alol1lol6lprmeEs H 1 |30 4£[43.12.31| BgE#E [mmerern 14 .1.1 K
Alol1lolslpmmes H 2 [30 45|43.12.31| Bz |mmsreion 14 .1.1 i
Alol1lol6lpkmeEs H 3 [30 4£[43.12.31| EgE#E [mmrrern 14 .1.1 K
Alol1lolslpmmes H 4 [30 45|43.12.31| BEzE |mmsren 14 .1.1 i
Alol1lol6lprmeEes H 5 [30 4£[43.12.31| EE#E [mmrrern 14 .1.1 K
Alol1lolslpmmes H 6 [30 45 |43.12.31| Bz |mmsren 14 .1.1 i
Alol1lol6lprmeEs H 7 [30 4£[43.12.31| EE#E [mmrrern 14 .1.1 K
Alol1lolslpmmes H 8 [30 45 |43.12.31| Bz |mmsrein 14 .1.1 i
Alol1lol6lpmeEes H 9 [30 4£[43.12.31| EE#E [mmrrern 14 .1.1 K
Alol1lol6lwHBsmmEs H 10|30 47 [43.12.31| BEIE |mmxresot 14 .1.1 i
Alol1lol6lprmeEs H 11 (30 4£[43.12.31| BE#E [mmerern 14 .1.1 K
Alol1lol6lwHBsmmEs H 12 (30 4£[43.12.31| BFEIE |mmxresot 14 .1.1 A&
Alol1lol6lpEmeEs H 13 (30 4£[43.12.31| BE#E |mmerern 14 .1.1 K
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Alol11ol6wB5meEs H 14 |30 4£[44.12.31| BFEIE |mmxresot 15 .1.1 i
Alol1lo]elmHEsmees H 1530 4£|45.12.31| BEFE [mmerrexon 16 .1.1 K
Alol1lo]elmHEsmes H 16 |30 4£[46.12.31| BEIE |mmxrexot 17 .1.1 i
Alol1lo]elmHEsmees H 17 |30 4£|47.12.31| BEZE [mmerrexor 18 .1.1 K
Alol1lolslpmmes H 18 |30 4E|48.12.31| FEZE |mmsrveiot 19 .1.1 A
Alol1lo]elmHEsmes H 19 (30 4£]49.12.31| FEZE [mmerrexor 20 .1.1 K
Alol1lo]elmHEsmes H 20|30 4£(50.12.31| BFEIE |mmxrexot 21 .1.1 i
Alol1lo]elmHEsmees H 2130 4£|51.12.31| BEFE [mmerrexon 22 1.1 A8
Alol1lo]elmHEsmes H 22 (30 4£(52.12.31| BEIE |mmxrexot 23 .1.1 i
Alol o] 6|z H 23 |30 4]53.12.31] BEFE |mmrveior| 23 11| 24 1.1 | iR
Alol1]ol6lmmmeess H 24 (30 4£54.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
Al o] 1] o] 6| prtime H 25|30 %) 5512.31] BESE |wiwveir 25 1.1) 26.1.1 | #
Alol 1ol 6lmmmezss H 26 (30 4£]56.12.31| BEFE |wmxresot| 26 1.1 27 .1.1 AN
Al o] 1] o] 6| prime H 27|30 %) 57.12.31] BESE |miwweir 27 1.1) 28 .11 | #
alol 110l 6 |msmses H 28 (30 4£|58.12.31| BEFE |mmxrexot| 28 1.1 29 .1.1 AN
Alo]1]o] 6 |#timEE H 29|30 #]59.12.31) BESE |wwrverr| 29 11) 30 .11 |
Alol1lol 7 wBsmeEs H 20|10 4£(30.12.31| BEIE |mmxrexot 21 .1.1 i
Alol1lol7 (e mee H 21|10 4£|31.12.31| EE#E [mmrrern 22 1.1 | &
Alol1lol 7 wBsmeEs H 2210 4£(32.12.31| BEIE |mmxresot 23 .1.1 i
Alol1]of7|mmsEg H 23|10 4]33.12.31) BEFE |wiverr) 23 11) 24 .11 |
alol1lol 7 lwsmes H 24 (10 4]34.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
Alo[ 1] o] 7]psLimEr H 25|10 %|35.12.31] BESE |mwrweror| 25 .1.1) 26 .11 | #
alol1lol 7 lwsmes H 26 (10 4]36.12.31| BEFE |wmrreaot| 26 1.1 27 .1.1 AN
Al o] 1] o] 7 [imee H 27 ]10 %]37.12.31] BESE |wnweir] 27 1.1] 28.1.1 | #
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AlO[1[0|7 [fBHEER H 28|10 4 [38.12.31| FE#E |mmsvesor| 28 1.1 29 .1.1 | #%
AlO| 1[0 7 |BIHEER H 29 |10 45 (39.12.31| BEIE |mmrvesorf 29 .1.1[ 30 .1.1 | #K
AlO[1]0]|8|—MximEERH H 25| 5 4[30.12.31| Be#e [mmevern]| 25 1.1 26 .11 | %%
AlO[1|0]8|—fximrER H 26 |5 A [31.12.31| BEI [mwmrverorf 26 1.1 27 .1.1 A
A[O[1]0]|8|—MximEEsH H 27 |5 4|[32.12.31| Bege [mmevern]| 27 11| 28 1.1 | %%
AlO[1[0]8|—MximrER H 28| 5 4 (33.12.31| BEFE [mmrverorf 28 1.1 29 .1.1 A
AlO[1]0]|8|—MximEERH H 29 |5 4|34.12.31| Be#e [mmevean| 29 1.1 30 1.1 | %%
AlO| 1| 0|9 |—fBmEE H 273 #[30.12.31| B [mmrverorf 27 1.1 28 .1.1 A
A[O[1]0]9|—MximEERH H 28| 3 4|[31.12.31| e [mmevern| 28 1.1 29 1.1 | %%
Al0| 1| 0|9 |—fBEEE H 29| 3 4 (32.12.31| BEFE [mmrvesorf 29 1.1 30 .1.1 A
A[O[1]1]0|—fxiBEERH H 29| 1 4[30.12.31| Be#E [mmevean| 29 1.1 30 1.1 | %%
AlO| 1|15 [z H 255 #(30.12.31| BEIFE [mmrvesorf 25 1.1 26 .1.1 A
A[O| 1] 1]5 [%Ensss H 26| 5 4[31.12.31| FE# |muxwerr| 26 1.1 27 1.1 | #%
AlO| 1|15 [i@Ensfx H 27 |5 4 (32.12.31| BEZE |mmvesorf 27 11| 28 1.1 | #K
A0 1] 1]5 %N H 28| 5 4[33.12.31| FE#E |mmxvesor| 28 1.1 29 .1.1 | #%
AlO| 1| 1|5 [BEEZER H 29 |5 4 (34.12.31| BEFE [mmrvesorf 29 1.1 30 .1.1 A
AlO|1|1]6 |[#@ESEEs H 273 #4(30.12.31| BFEHEE |mmeveson| 27 1.1 28 .1.1 A&
AlO| 1] 1]6 |[@%Enssfx H 28 |3 A (31.12.31| BEF [mmxverorf 28 1.1[ 29 .1.1 | #K
A0 1] 1]6 |[%EnsEfx H 29| 3 4(32.12.31| FE#E |mmswesor| 29 1.1 30 1.1 | #%
A[O| 1] 1|7 [@%nssfx H 29| 1 #(30.12.31| BEF [mmxveaorf 29 1.1[ 30 .1.1 | #K
AlO|2[0]|2 FEBR H 27 (3 #4[30.12.31| BEIE [wwsensrenn| 27 1.1 28 .1.1 | #&
Al0|2]0]2 |FBMmE H 28| 3 #|[31.12.31| FE#E w28 1.1 29 1.1 | #%
Al0[2]0]2 [FBEDLE H 29 |3 #4(32.12.31| BEIHE [mmsweeer| 29 1.1[ 30 .1.1 | #K
A[0[2]0]3 [JREESZPRTE H 273 #(30.12.31| BEFE [mmemeecenf 27 1.1 28 .1.1 A
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Al0|2]|0]| 3 JAREE 2L H 28| 3 #[31.12.31| BEHE |wmmsmren| 28 1.1 29 .1.1 A
Al0|2]0]3 [JRBE 2R H 29| 3 4(32.12.31| gE#E [mwwmeead] 29 1.1 30 1.1 | $%
Al 0| 2[0]|4FE8HEBRER H 29[ 1 4(30.12.31| BEIE [wwsensrenn| 29 1.1 30 .1.1 | H&
AlO|2]0|6|CE 77 ANV EHE HHE |7y BRI
Al 0[2]0]8 |17 Bk & H 273 #4(30.12.31| BEZHE [wmemnn| 27 1.1 28 .1.1 | #%
Al0|2]0]8 1Bk i H 28| 3 45 [31.12.31| BEIFE [momswecwr| 28 1.1[ 29 .1.1 | #K
Al0|2]0] 8 |17 Btk & H 29 |3 4(32.12.31| BEHE [mmereeen| 20 1.1[ 30 .1.1 | #%
A[0|2]0]9 [ 1F LB EAfRH% H 27| 3 4[30.12.31| BEZE |wwmmnercs| 27 1.1 28 .1.1 K
Al 0| 2[0[9 | 1FHALPRBI LRI H 283 #|31.12.31| BEZE [wwsensrenn| 28 1.1 29 .1.1 | #&
A[0|2]0]9 [ 1F AL EAfRH% H 29 (3 #(32.12.31| BEIE [wemeneenr| 29 1.1 30 .1.1 | &
AlO|2] 1|5 |CEREE - B & H 255 #[30.12.31| BEIE [wwsensrenn| 25 1.1 26 .1.1 | #&
AlO|2]| 1|5 CEFEE -BEHE H 26| 5 4|[31.12.31]| FEEE |semeneen| 26 1.1] 27 .1.1 i
AlO|2|1|5|CEREE -BEHE H 275 #4(32.12.31| BEEHE [wmewenn| 27 1.1 28 .1.1 | #&
AlO|2]| 1|5 | cEpEE - & H 28 |5 #5(33.12.31| BEIE [momswewr| 28 1.1[ 29 .1.1 | #K
AlO|2] 1|5 |CERERE - B & H 29 |5 4 (34.12.31| BEIHE [mmsweeer 29 1.1[ 30 .1.1 | #K
A|O0|5|0[1 [flrEIRaLRE H 283 #|31.12.31| BEIE [mmeneenr| 28 1.1 29 .1.1 | #&
Al1| 2|0 1 [CE=F 4 H 27| 3 4(30.12.31| BgzE |sa7any| 27 1.1 28 1.1 |mwmins
All|2]|0]|1|cE&Z 3140 H 28| 3 4 [31.12.31| BEFE |70 28 1.1 29 .1.1 |memis
Al1| 20| 1 [CE=F 4 H 29| 3 4(32.12.31| FEZ |#t7+r429 .1.1| 30 .1.1 |msemics
All|2]0]2|Fis & B EORIFHR| FEHE [ nmmensreion K
Al2(0]0]| 1| NFEE@EENER H 1 |30 4[43.12.31| BEHE |mwmwmsecnn 14 .1.1 A&
Al210]0] 1| A= REhmEnE# H 2 |30 45 (43.12.31| BRI [momenccnn 14 .1.1 | #%
Al2]0|0| 1| A= FEhEeEEE H 3 [30 443.12.31| BEZFE [nmmsencrcns 14 .1.1 | #&
Al 2(0] 0| 1| A\ EEhiE R H 4 [30 4£[43.12.31| I [mmenercns 14 .1.1 | #%
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Al2[0]0] 1| NFHEE@EER H 30 5| 43.12.31| BEIE |wammimrcnn 14 .1.1 A
Al210[0| 1| A= B EhiE aE H 30 4F|43.12.31| BEZE |wsmemcecrn 14 .1.1 | #%
Al2[0]0] 1| NFEE@ENER H 30 - 43.12.31| BEIE |wammimrcnn 14 .1.1 A
Al210]0] 1| A= REhm s E# H 10 |30 4 (43.12.31| BRI [memeneecrn 14 .1.1 | #%
Al2(0]0]| 1| NFEE@EER H 1130 4[43.12.31| BEHE |msmwmsecnn 14 .1.1 A&
Al210]0] 1| A= REhmmnE# H 12 (30 4£|43.12.31| BEZE [wmmencrcrs 14 .1.1 | #%
Al210]0] 1| A= REhmmnE# H 13 (30 443.12.31| BEZFE [nmmsencrcns 14 1.1 | #%
Al210]0] 1| A= REhmmnE# H 14 [30 4| 44.12.31| BEZE [wmmensrcns 15.1.1 | #%
Al2(0]0]| 1| NFEE)@EER H 15|30 4[45.12.31| BEHE |msmwmsecnn 16 .1.1 A&
Al210]0] 1| A= REhmEnE# H 16 30 4 |46.12.31| BEZE [wmmencrcrs 17 .1.1 | #%
Al2[0]0] 1| NFEE@EER H 17 |30 4 [47.12.31| BEHE |msmwmsecnn 18 .1.1 A&
Al210]0] 1| A= REhmmnE# H 18 (30 45|48.12.31| BEZE [wmmensrcrs 19 .1.1 | #%
Al2[0]0] 1| NFEE@ENER H 19 |30 4[49.12.31| BEHE |msmwmsecnn 20 .1.1 A
Al210]0] 1| A= REhm s E# H 20 [30 4£[50.12.31| BEZE [wmmensrcrs 21 .1.1 | #%
Al2[0]0]| 1| NFEE @A ER H 21|30 4|51.12.31| BEHE |mwmwmsecnn 22 .1.1 A&
Al210]0] 1| A= REhmEnE# H 22 (30 4[52.12.31| BEZE [wmmensrcrs 23 .1.1 | #&
Al210]|0| 1 [\ REiEhlmER H 23|30 4[53.12.31| BEHE |wemmmcrenn| 23 1.1 24 .1.1 A
Al2[0[0[1 [N\ EEham R H 24 (30 4 |54.12.31| BEIE [wmemeenr| 24 1.1 25 .1.1 | H&
Al2[0[0|1 [ N2 EhiE R H 25 (30 4= |55.12.31| BEZE [wwsensrenn| 25 1.1 26 .1.1 | #&
Al2[0[0|1 [N EEham R H 26 (30 4 (56.12.31| BEIE [woseneenn| 26 1.1 27 .1.1 | #&
Al2(0[0f1 [ A\ZEE)am A ER H 27|30 4 [57.12.31| BEHE |wemsmerenn| 27 1.1 28 .1.1 A
Al2(0]|0] 1 | \FEHE B ER H 28|30 4 (58.12.31| BEIHE [mmwwcced| 28 1.1] 29 .1.1 | #K
Al2(0]|0] 1 [ AT Hihimzn iz H 29 (30 45(59.12.31| BEZE [wwsensrenn| 29 1.1 30 .1.1 | H&
Al210|0|2|EfEHE H 1 [30 4(43.12.31| BEIE |wmmsnein 14 .1.1 fiiN
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Al2(0|0]|2|0EfEEE H 2 [30 443.12.31| BEZE [wmmensrcrs 14 .1.1 A
Al2|0(0| 2|t EHE H 3 [30 4|43.12.31| BEZE [wmmensrcrs 14 .1.1 | #%
Al2|0]|0| 2| rEfEEHE H 4 [30 443.12.31| BEZE [wmmensrcrs 14 .1.1 A
Al2|0[0| 2|05t ERH H 5 [30 4|43.12.31| BEZE [wmmencrcrs 14 .1.1 | #%
Al2(0|0]|2|nEfEEE H 6 [30 4|43.12.31| BEZE [wmmensrcrs 14 .1.1 A&
Al2|0[0| 2|5t ERH H 7 [30 4|43.12.31| BEZE [wmmensrcns 14 .1.1 | #%
Al2|0]|0| 2| rEfEEHE H 8 [30 443.12.31| BEZE [wmmenscrs 14 .1.1 A
Al2|0(0| 2|t EHE H 9 [30 4[43.12.31| BEZE [wmmensrcrs 14 .1.1 | #%
Al2(0|0]|2|0EfEEE H 10 |30 4|43.12.31| BEHE |msmmmsenn 14 .1.1 A&
Al2|0[0| 2|05t ERH H 11 (30 4|43.12.31| BEZE [wmmensrcrs 14 .1.1 | #%
Al2|0]|0| 2| aEfEEHE H 12|30 4|43.12.31| BEHE |mwmwmsecnn 14 .1.1 A&
Al2|0[0| 2|5t ERH H 13 (30 4£|43.12.31| BEZE [wmmencrcns 14 .1.1 | #%
Al2(0|0]|2|0EfEEE H 14|30 4|44.12.31| BEHE |momwmsecnn 15 .1.1 A
Al2|0[0| 2|5t EHE H 15 (30 4£|45.12.31| BEZE [wmmensrcrs 16 .1.1 | %
Al2|0]|0| 2| rEfEEHE H 16 |30 4[46.12.31| BEHE |msmwmsecnn 17 .1.1 A&
Al2|0[0| 2|t EH H 17 [30 4| 47.12.31| BEZE [wmmensrcrs 18 .1.1 | %
Al2|0]|0| 2| rEfEEHE H 18|30 4|48.12.31| BEHE |msmmmsrcnn 19 .1.1 A&
Al2|0[0| 2|05t ERH H 19 30 4£[49.12.31| BEZE [wmmencrcrs 20 .1.1 | #%
Al2|0]|0| 2| aEfEEHE H 20|30 4[50.12.31| BEHE |msmwmsecnn 21 .1.1 A&
Al2|0[0| 2|5t ERH H 21 (30 4 |51.12.31| BEZE [wmmencrcrs 22 1.1 | #&
Al2|0]|0| 2| rEfEEHE H 22|30 452.12.31| BEHE |mwmwmsecnn 23 .1.1 A&
Al2|0[0| 2|05t ERH H 23 (30 4 [53.12.31| BEIE [wmeneenn| 23 1.1 24 .1.1 | H&
Al2|0|0f|2|rEfEERE H 24|30 4[54.12.31| BEFE |wmmsmcrenn| 24 1.1 25 .1.1 A
Al2(0]0]2|/mEfEEHE H 25 (30 4 |55.12.31| BEZE [wmemeens| 25 1.1 26 .1.1 | &
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Al2(0]0]|2|/rEfEERE H 26 [30 45 |56.12.31| BEIE [wwsensrenn| 26 1.1 27 .1.1 | H&
Al2|0|0f|2|rElEERE H 27 30 4 |57.12.31| BEZE [wmeneenn| 27 1.1 28 .1.1 | H&
Al2(0]0]|2|/rEfEERE H 28 [30 4= |58.12.31| BEIE [wwsenwsvenn| 28 1.1 29 .1.1 | #&
Al2|0|0f|2|rElEERE H 29 (30 45 (59.12.31| BEIE [wsemeenr| 29 1.1 30 .1.1 | &
Al2]0|0|3|F&EELER H 29[ 1 4[30.12.31| BEIE [wwsensvenn| 29 1.1 30 .1.1 | H&
Al2[5]|0] 1 [#FEH S HBERE H 273 #4(30.12.31| FE=e [mmsrexor| 27 1.1 28 1.1 | %%
Al2[5]|0] 1 [#EE BRI H 28| 3 4[31.12.31| FE#E |mmxesor| 28 1.1 29 1.1 | #%
Al2]|5[0]| 1 [#EE SRR H 29 |3 4£[32.12.31| BEHE [mm=veor 29 1.1 30 .1.1 | #&
Al2(9]0] 2 |HaH~EEE BItR#% H 27| 3 4[30.12.31| e mmevern]| 27 11| 28 1.1 | %%
Al2(9]0] 2 |HEH~ESEBItR#E H 283 #|31.12.31| BEZE [mm=sexor 28 1.1 29 .1.1 | &
Al2[9]0] 2 |HaH~EEE BItR#% H 29 |3 4|[32.12.31| e [mmevern| 29 1.1 30 1.1 | %%
Al2(9]0] 3 [FRI#GREEFLERTE H 283 #|31.12.31| BEZE [mm=rexor 28 1.1 29 .1.1 | &
Al 2(9(0]|3 [FRIAFHFLEKTE H 29| 3 #(32.12.31| BFEHEE |mmevesxor 29 1.1 30 .1.1 A&
Al2]9]0| 4 |HeadR REFLEE H 273 #4(30.12.31| BEIE [mmrveaorf 27 11| 28 1.1 | #K
A[2]9(0]| 4 [Headns REFLIRTE H 28| 3 #[31.12.31| BFEHEE |mmrvesor| 28 1.1] 29 .1.1 A&
Al2]9]0| 4 |feadR REFLEE H 29| 3 #(32.12.31| BEZFE |mmrvesorf 29 .1.1[ 30 .1.1 | #K
Al2[9]0]5 [EEH R EE—ER H 27| 3 4[30.12.31| FE#E |mmxwesor| 27 1.1 28 1.1 | #%
Al2(9(0|5 [BGEH~RDLHR S E—EE H 28| 3 4 [31.12.31| BEFE [mmrvesorf 28 1.1 29 .1.1 A
Al2[9]0]5 [EEH R EE—ER H 29| 3 4(32.12.31| FE#E |mmswesor| 29 1.1 30 1.1 | #%
Al2[9]0]6 |ESERISAT R A A E H 273 #4(30.12.31| BB |smevcsor| 27 11| 28 .1.1 | #&
Al2[9]0]6 |BEEERISAT I AREE H 28| 3 4[31.12.31| FE# |mmxwesor| 28 1.1 29 1.1 | #%
Al2[9]0]6 |ESERIGAT R A G E H 29 |3 4(32.12.31| FEIHE |smevesorf 29 1.1[ 30 .1.1 | #&
A|3]0]0]| 2 Es22BEfRME H 29| 1 #4(30.12.31| BFE#EE |mmevesor 29 1.1 30 .1.1 A&
A3 1|02 Bl - fe et i H 29| 1 #4(30.12.31| BEIFE |mmrvesorf 29 1.1[ 30 .1.1 | #K
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Al3|2|0]|1|EEE H 1330 4[43.12.31| BEHE |msmwmsecnn 14 .1.1 i
INEIRALURSES 25 H 14|30 4 |44.12.31| BEEE |wmomeneecnn 15 .1.1 e
Al3|2|0]|1|EEAR H 15|30 4|45.12.31| BEHE |msmwmsecnn 16 .1.1 i
INEIRALURSES 25 H 16 |30 4£|46.12.31| BEEHE |wmommneecnn 17 .1.1 e
Al3|2|0]|1|EEAR H 17 |30 4| 47.12.31| BEHE |msmwmsecnn 18 .1.1 i
INEIRALURSES 25 H 18|30 4 |48.12.31| BEEHE |mammmercon 19 .1.1 e
Al3|2|0]|1|EEE H 19 |30 4[49.12.31| BEHE |msmwmsecnn 20 .1.1 i
INEIALURSES 2= H 50.12.31| BEIE [wmmsmnsrion 21 .1.1 IS
Al3|2|0|1|ERER H 51.12.31| BREHE |mmmsemerct 22 1.1 | #&
INEIALURSES 2= H 52.12.31| BEFE [wmmmmcrion 23 .1.1 IS
INEIRALURSES 25 H 53.12.31| BEHE |mamsmcreen| 23 1.1 24 .1.1 K
INEIALURSES 2= H 54.12.31| BEHE |mwmeneen| 24 11| 25 .1.1 e
INEIRALURSES 25 H 55.12.31| BEHE |mamsmcrcen| 25 1.1 26 .1.1 K
Al3[2]|0]1|EEAME H 56.12.31| BEHE [mwenccri| 26 1.1] 27 .1.1 | #&
INEIRALURSES 25 H 57.12.31| BEHE |mamsmreen| 27 1.1 28 .1.1 K
INEIALURSES 2= H 58.12.31| BEHE |wwmeneen| 28 1.1[ 29 .1.1 e
INEIRALURSES 25 H 59.12.31| BEHE |mamsrcreen| 29 1.1 30 .1.1 K
Al3|2|0]2MEFREI—F BEZE | wamsonrrein i
Al3[2]0]3 |FEBERER H 30.12.31| PBEHE |mwmemecn| 27 1.1[ 28 .1.1 | #K
Al3|2|0]|3|FEERk H 31.12.31| BEHE [mmmenccrr] 28 1.1 29 .1.1 | #&
Al3[2]0]3 |FREBERER H 32.12.31| BEHE |wwmemeca| 29 1.1[ 30 .1.1 | #%
Al4]|0|0| 2| ATERHEBERE H 30.12.31| BEHE [mmeresor| 25 1.1 26 .1.1 | #%
Al4|0|0|2 | AJTERE R H 31.12.31| BEHE [mwxrcwor| 26 1.1 27 .1.1 | %%
Al4[0]0]|2[ATIERME PR H 32.12.31| BEHE [mmerewor| 27 1.1 28 .1.1 | #K
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Al4]0]0]2 | ATyEEME LR H 28 [ 4E | 33.12.31| BEZE [mmercaor| 28 1.1] 29 .1.1 | #E
Alalolol2 D arrsmms H 29 [ 45|34 .12.31| BEFE |mm=rexor| 29 1.1 30 .1.1 %
alalolol s Hapsme H 25 H130.12.31| BEHE [mmxreaon| 25 1.1 26 .1.1 A
Al4|0]0|3|H &R E B H 26 | 45 [31.12.31] BEHE |mmsrcaor| 26 1.1 27 1.1 | #%
alalolol sl arreme H 27 | 4E|[32.12.31| BEZE |mmxvexor| 27 1.1 28 .1.1 A
Alalolol3|m e H 28 [ 4£]133.12.31| BEFE |wmrrerot| 28 1.1 29 .1.1 S
Alalolol sl haersmes H 29 = 4£|34.12.31| BEHE |mmrrexor| 29 1.1 30 .1.1 A
Als[ofo] 1 [mamams H 2 [30 4:]43.12.31] BESE |mnrein 14.11] M
Al500] 1 [H R R H 3 |30 #]43.12.31) BESE |mirrerss .11}
Al5 o] o] 1 [ rampatRE: H_ 4 |80 %|43.12.31) PEAE |sinereios .11}
A5 00| 1 [H i R H 5 |30 #]43.12.31) BESE |mirrers .1l
Al5 o] o] 1 [ rampItRE: H_ 6 |30 %|43.12.31) PEAE |wnereios .11} R
A5 00| 1 [H i R H 7 |30 #]43.12.31) BESE |mirrerss .11}
NENROREEE H_ 8 |30 %|43.12.31) PEAE |winereios .11}
Al5]0]0] 1 | AR H 9 |30 fF]43.12.31] BESE |wnvector .11}
Al5[0]0] 1 | FRHERA R H 1230 f)43.12.31) BESE |mirrort .11}
A[5]0] 0] 1| AERB R H 15|30 ] 45.12.31] BESE |mimrectss 16.1.1| #
Al5|0|0] 1| H 16 30 #[46.12.31| BEFE |mireiot 17.1.1] M
A5 00| 1 [H R R H 18 |30 #)48.12.31) BESE |mirrets .11}
Al5|0|0] 1| H 19 [30 #[49.12.31| BEFE |mmreiot 20.1.1 | #%
A5 00| 1 [H i R H 20|30 #)50.12.31) BESE |mirretss 2Ll
Al5[0]0] 1 | FRHERA R H 21]30 #)51.12.31) BESE |mirrort 22,11 &
A5 00| 1 [H i R H 22|30 #)52.12.31) BESE |wirretss 211 &
Al5[0]0] 1 [ FRHERa R H 23|30 °]53.12.31] BESE |wwwrerr[23 11]24.1.1 )
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AlsTolol1 s rmeee H 24 (30 4£54.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
Al5[o] o] 1 [t i e H 25|30 % |55.12.31] BESE |mwrwerot| 25 .11) 26 .11 | #
Alslolol1 s imime H 26 (30 4£]56.12.31| BEFE |wmrreaor| 26 1.1 27 .1.1 AN
Al5[o] o] 1 [t it H 27|30 % |57.12.31] BESE |mwrweror| 27 .11) 28 11| #
Alslolol1 s imime H 28 (30 4£|58.12.31| BEFE |mmxreaor| 28 1.1 29 .1.1 AN
Al5[o] o] 1 [t it H 29 |30 %|59.12.31] BESE |mwrwert| 20 .1.1] 30 11| #
Alslolol4 s rrwmses H 2 |30 4£(43.12.31| FEZE |mmrrexon 14 .1.1 i
A5l 0004 e Frr e H 3 [30 4£[43.12.31| EgE#E [mmrrern 14 .1.1 K
Alslolol4 s rwmss H 4 |30 4£(43.12.31| FEZE |mmrrexon 14 .1.1 i
A5l 0004 e Err e H 5 [30 4£[43.12.31| EE#E [mmerern 14 .1.1 K
Alslolol4 s irtmemss H 6 |30 4£|43.12.31| FEZE |mmrrexon 14 .1.1 i
A5l 0004 e Errmrme H 7 [30 4£[43.12.31| EE#E [mmerern 14 .1.1 K
Alslolol4essrrwmss H 8 |30 4£|43.12.31| BEZE |mmrrexon 14 .1.1 i
A5l 0004 e Frr e H 9 [30 4£[43.12.31| EE#E [mmrrern 14 .1.1 K
Alslolol4 s irtmemss H 10|30 4£|43.12.31| FEZE |mmrrexon 14 .1.1 i
A5l 0004 e Errmrme H 11 (30 4£[43.12.31| EE#E [mmerern 14 .1.1 K
Alslolol4esEsrwmmss H 12|30 4£(43.12.31| FEZE |mmrrexon 14 .1.1 i
A5l 0004 e Err e H 13 (30 4|43 .12.31| EE#E [mmrrern 14 .1.1 K
Alslolol4 s irtmemss H 14|30 4£|44.12.31| FEZE |mmrrexon 15 .1.1 i
A5l 0004 e Errmrme H 15 (30 4£|45.12.31| BE#E [mmereron 16 .1.1 | #&
Alslolol4 s irtmemss H 16|30 4£|46.12.31| FEZE |mmrrexon 17 .1.1 i
A5l 0004 e Err e H 17 |30 4|47 12.31| BE#E [mmrreron 18 .1.1 K
Alslolol4 s irtmemss H 18|30 4£|48.12.31| FEZE |mmrrexon 19 .1.1 A&
A5l 0004 e E e H 19 |30 4|49 12.31| Be#E [mmereron 20 .1.1 K
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Al5]0]|0] 4|20 FIFLEEE H 20 (30 4 (50.12.31| BEEHE [momsrexor 21 1.1 | #&
A|5[0]0|4 L3R FHLEEE H 21|30 4 (51.12.31| BEIHE [mmrresor 22 1.1 | #%
Al5]0]|0] 4|30 FIFLEEE H 22 (30 4 (52.12.31| BEEE [mmsrexor 23 .1.1 | #&
A|5[0]0|4 L3R FHLEEE H 23|30 45 (53.12.31| BEIE [mmrveaorf 23 .1.1[ 24 1.1 | #K
A|5[0[0[4 |00/ LLER H 24 |30 4£|54.12.31| Bege |mmevean| 24 1.1 25 1.1 | %%
A|5[0|0[4 S0 FALERE H 25|30 4[55.12.31| BEZE |wmxvexor 256 1.1 26 .1.1 A&
A|5[0[0[4|F0IEF/LLERE H 26 (30 4£|56.12.31| Be#E |mmevean| 26 1.1 27 1.1 | %%
A|5[0[0[4 0T LLERE H 27|30 4 |57.12.31| BEFE [mmrvesorf 27 1.1 28 .1.1 A
A|5[0[0[4|F0T0F/LLER H 28 (30 4£|58.12.31| Be#e [mmevean| 28 1.1 29 1.1 | %%
A|5[0[0[4 S0 FALERE H 29 |30 4[59.12.31| BEZE |wmxvexor 29 1.1 30 .1.1 A&
Al5(0]0] 6| tRFERE H 21 (10 4[31.12.31| BEEE [mmsrexor 22 1.1 | #&
Al5(0]0]6 | fRFERE H 22 [10 4|32.12.31| BEZE [mmereson 23 .1.1 | #%
Al5(0]|0]6 | tReERE H 23|10 4£[33.12.31| BesE [mmevean| 23 1.1 24 1.1 | %%
Al5|0[0[6|FIRFEKE H 24|10 4£|34.12.31| FE=E |mmeesor| 24 1.1] 25 1.1 | #%
A[5]0[0]|6 [4tRah R H 29|10 4£[39.12.31| FE#E |mmsvesor| 29 1.1 30 .1.1 | %
Al5[0| 1|1 [MpEH H 273 #(30.12.31| B [mmrverorf 27 1.1 28 .1.1 A
Al5[0] 1|1 (M H 28| 3 4[31.12.31| FE# |mmxesor| 28 1.1 29 1.1 | #%
Al5[0| 1|1 [MEH & H 29 |3 4 (32.12.31| BEF [mmrvesorf 29 1.1 30 .1.1 A
Al5]2|0]| 2 GRS H-IRTT T8 H 14 |30 4 |44.12.31| FEZE [momreeiot 15 .1.1 | #%
Al5|2|0| 2 |FEL IR A8 H 15|30 4 (45.12.31| BRI [mmrresot 16 .1.1 | #%
Al 5[ 2] 0|2 |ZE A7 s H 16 [30 4F|46.12.31| FEHE |mmrren 17 1.1 | #%
Al5|2|0| 2 |FEL IR AT H 17 [30 48| 47.12.31| BEHE [mmrreioh 18 .1.1 | #%
Al5|2|0]| 2 R IRTT T8 H 2130 4£(51.12.31| FEFE [momrvesiot 22 1.1 | #&%
A5 2|02 |FEL IR A8 H 22|30 4£(52.12.31| BEIHE [mmrresor 23 .1.1 | #%
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NEBERNBE H 23 (30 4£53.12.31| BEFE |mmrreaor| 23 1.1 24 .1.1 N
Al5]2] 0| 2 |GERL A7 H 24|30 #°|54.12.31| BESE |wmwverr]24 11] 2511 |
Alsl2lol 2 zrms et r H 25 (30 4£|55.12.31| BEFE |mmxreaor| 25 1.1 26 .1.1 AN
Al5]2] 0] 2GR IR A7 H 26|30 #156.12.31] BEFE |wmevert 26 11) 27 .11 | #%
Alsl2lol 2 zrme et r H 27 (30 4£|57.12.31| BEFE |wmrreaor| 27 1.1 28 .1.1 AN
Al5]2|0] 2 [FEIIELAE H 28|30 #|58.12.31) BESE |wmrverr| 28 11) 29 .11 ]
Alsl2lol 2 zrme et r H 29 (30 4£159.12.31| BEFE |mmxresor| 29 1.1 30 .1.1 AN
Al5] 2] o] 3 |GERmn L H 12|30 % |43.12.31) PEAE |wneciot .11 #
Al5] 2| 0|3 |zrma e H 1430 4| 44.12.31| BEFE |wicreior 15.1.1 | #%
Al5] 2] o] 3 |GEsmnfEE H 1530 % |4512.31) PEAE |wneiot 16.1.1 1 #
Als|2]o] 3 (rrme it s H 1630 4| 46.12.31| BEFE |misreior 1711 ] i
Al5] 2] o] 3 |aEsmnfrE H 17|30 f|47.12.31) PEAE |wne ot 18.1.1 | #
Al5] 2| 0|3 |zrma e H 19|30 #49.12.31| BEFE |wireior 20 .11 ) #%
Al5] 2] o] 3 |GEspnfEE H_ 2130 % |51.12.31) PEAE |wnee it 22,111 #
Al5] 2| 0|3 |zrma e H 22|30 #52.12.31| BEFE |wireior 23 11| %
Al5| 2] o] 3[rEmupr s H 23 |30 % |53.12.31] BESE |mwrweror| 23 .11) 24 11| #
Alsl2lol 3 zrme e mee H 24 (30 4£54.12.31| BEFE |wmrreaor| 24 1.1 25 .1.1 AN
Al5| 2] o] 3 [aEmirE s H 25|30 %) 5512.31] BESE |wiwreior 25 1.1) 26.1.1 | #
Alsl2lol 3 zrme e mee H 26 (30 4£]56.12.31| BEFE |wmrreaor| 26 1.1 27 .1.1 AN
A5 ] 2] o] 3 [aEmu e s H 2730 % |67.12.31| BEJE |wwvwerh| 27 11| 28.1.1 | #&
Alsl2lol 3 zrme e me H 28 (30 4£|58.12.31| BEFE |mmxreaor| 28 1.1 29 .1.1 AN
Al5] 2] o] 3 |rEsa i s H 29 |30 %|59.12.31] BESE |mwrwert| 29 .1.1] 30 11| #
Al5| 2] 0] 4 [FESLSIES Sk H 12|30 #)43.12.31) BESE |mirretss .1l R
Al5] 2] o] 4[rEsnmn s S H 1530 % ]4512.31] PEAE |swneiot 16.1.1] #
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Al5]2]0] 4 [GEmp s s H 1630 4|46 .12.31] BEFE |micresr L
Al5| 2] o[ 4|aEmm it mm H 17|30 4F|47.12.31] BESE |mmsrets 1811 | #&
Als| 2| o] 4 |aEman s mmis 2130 4|51.12.31] BEHE |miicreion 22 11| ™
Al5| 2] o[ 4|aEmm it mm H 22|30 % |52.12.31] BESE |mmsrets 2311 |
Alsl2lol4zemmps smes H 23 (30 4£53.12.31| BEFE |mmrreaor| 23 1.1 24 .1.1 AN
A|5] 2] o] 4[iEum it s H 24|30 %) 54.12.31] BESE |wiweir 24 1.1) 25.1.1 | #
Alsl2lol 4|z prs s H 25 (30 4£|55.12.31| BEFE |wmrreaor| 25 1.1 26 .1.1 AN
Al 5| 2| o] 4[rEsnam i fbn H 26 |30 %|56.12.31] BESE |mwrweror| 26 .11] 27 11| #
Alsl2lol 4|z prs s H 27 (30 4£|57.12.31| BEFE |wmrreaor| 27 1.1 28 .1.1 AN
Al5] 2] o] 4 [rER PSR H 2830 % |68.12.31| BEJE |wwewrh| 28 11| 29.1.1 | #&
Alsl2lol 4|z prs s H 29 (30 4£159.12.31| BEFE |mmxresor| 29 1.1 30 .1.1 AN
Al5 | 2] 0] 5 [AERUB BTG H 12 |30 4| 43.12.31) PESE |mnereron .11
Al5] 2| 0|5 |zEma st H 1430 4| 44.12.31| BEFE |wireiot 15.1.1 ] i
Al5| 2] 0] 5 [ERB BTG H 15|30 4| 45.12.31) PESE |mnereron 16.1.1 | #
Al5] 2| 0|5 |zEma st H 16 |30 4| 46.12.31| BEFE |wmreiot 1711 ] i
Al5|2] 0|5 |RESIE S H 17130 #|47.12.31) BESE |mnecior 18111 #
Al5] 2| 0|5 |zEma et H 18|30 4| 48.12.31| BEFE |wmreiot 19 .11 ] i
A|5|2]0] 5 |GERL P i H 1930 4]49.12.31] BESE |wicectr 2011 #&
Al5] 2| 0|5 |zEma st H 21|30 4 |51.12.31| BEFE |wmreiot 22 11| #&
A[5|2|0|5 [FEHLIE H A H 22|30 4%|52.12.31| BEIE [mmsveion 23 .1.1 | #&
Alsl2lo] 5 [Ersm et H 23 (30 4£53.12.31| BEFE |mmrreaor| 23 1.1 24 .1.1 AN
alsl2lol 5 zEmey e H 24 (30 4£]54.12.31| BEFE |wmrreror| 24 1.1 25 .1.1 %
Alsl2lol 5 [zrme s e H 25|30 4£[55.12.31| BEZFE [mmrrexor| 25 1.1| 26 .1.1 i
Alsl2lol s ek H 26 |30 4| 56.12.31| BEFE [mmvveson 26 11| 27 1.1 | K
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AlsT2lol 5 [zrimae s e H 27 (30 4£|57.12.31| BEFE |wmxresor| 27 1.1 28 .1.1 N
A[ 5| 2] 0] 5 |FERL I H 1 H 2830 #|58.12.31] BESE |wArveror| 28 L1| 2911 | #
NEBERNEE H 29 (30 4£159.12.31| BEFE |wmrrexor| 29 1.1 30 .1.1 AN
Al5[2]0]6 AR I H S A HlE H 20|10 45(30.12.31| BEZE [memercwn 21 1.1 | #&
Al5] 2] o] 6 | A pair fmins b H21]10 /| 31.12.31) BESE |ssneecr: 22 11| #
A5 (2|06 |MERGFHRSELHE H 22|10 45 [32.12.31| BEHE [memsreion 23.1.1 | #&
Al 5|20/ 6 12 B4R S PR L A P g H 23 (10 4|33.12.31| BEHE [t 23 1.1 24 .1.1 | H&
A|5|2|0]6 | ARtk M A PR H 24 |10 4|34.12.31| pegE [semevera| 24 1.1] 25 1.1 | %%
Al5 |2l 0] 6|48 B R = e Ay pRie H 25 (10 4|35.12.31| BEHE [mwnwverotf 25 1.1 26 .1.1 | H&
A5 |2|0]6 | AR fR g I A P H 26|10 4]36.12.31| pegE [semevera| 26 1.1 27 1.1 | %%
Al5 |2l 0] 6|48 B R = e 2 A pr i H 27|10 4|37.12.31| BEHE [memeverorf 27 1.1 28 .1.1 | #&
A|5|2|0]6 | ARt gE M A PR H 28 |10 4]38.12.31| pezE [semevera| 28 1.1] 29 1.1 | %%
Al5 |2l 0] 6|48 B s e 24 PR H 29 [10 4|39.12.31| BEHE [mwnwverotf 29 1.1 30 .1.1 | H&
Al5|2]0]|7 [#APIRIHI S E T H 20|10 42(30.12.31| BEZE [memercnn 21 1.1 | #&
Al5] 2] o] 7| A papR L b e H21]10 /| 31.12.31) BESE |ssnsecrr 22 11| #
Al5|2]0|7 [#APIRIHI S E TN E H 22|10 45(32.12.31| BEZE [memerenn 23 1.1 | &
Als|2] ol 7 |iaEi e EE RS = H 23|10 4]33.12.31| FEFE [semocwoi 23 1.1] 24 1.1 | #%
Al5]2]|0]| 7 (FEAPECRF IR E A H 24 |10 4|34.12.31| pegE [semevera| 24 1.1] 25 1.1 | %%
Alsl2lol 7 [z amme 250w H 25|10 4]35.12.31| FEFE [semocwoi 25 1.1] 26 .1.1 | #%
Al5|2|0]|7 ({8 ERERFERSERME H 26|10 4]36.12.31| pegE [semevera| 26 1.1 27 1.1 | %%
Alsl2lol 7 [ ap g amma 250w H 27|10 4|37.12.31| FEFE [semocwoi 27 11| 28 .1.1 | #%
Al5|2|0|7 ({8 EREBRFERSERME H 28 |10 4]38.12.31| pesE [semevexa| 28 1.1] 29 1.1 | %%
Alsl2lol 7 [z amme 250w H 29|10 4]39.12.31| FEFE [semecwi 29 1.1] 30 .1.1 | #E
Al5] 2] o] s[mm derkse it H 27]3 %]30.12.31] BESE |wnwir] 27 1.1] 28 .11 | #
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AlsT2l ol 8| a vt H 283 431.12.31| BEIFE |wmrreaor| 28 1.1 29 .1.1 N
Al5] 2] o] 8| me deise e it H 29| 3 4)32.12.31 BESE |mwiwer 29 1.1) 30 .11 | #
Alsl2l 1] 3lpipime=wme H 20|10 4 [30.12.31| FEHE [muwmsreaon 21 .1.1 A
Als| 2] 1|3 lgipimEe =g me H 21|10 4£|31.12.31| FEIFE [memerern 22 .1.1 K
Alsl2l 1] 3lpipime=mme H 22110 4 [32.12.31| FEIE [mumsreaon 23 .1.1 A
A5 2] 1] 3| AP EE B H 23|10 #]33.12.31) BESE |mencvrr23 11 2411 ]
Al5| 2| 1] 3|aiRme s mu H 24|10 % 34.12.31| BEFE w24 11] 25 1.1 | &
NEERBE S H 25]10 %135 12.31] BEFE |wereroe 25 111 26 .11 | #X
Al5|2]1]3 BRSSP H 26|10 4£]36.12.31| FEZE [memeecwn| 26 11| 27 1.1 | #E
A|5[ 2] 1|3 |AirRHHE 2 A 0 H 27|10 #°|3712.31| BESE |senvwr] 27 1.1] 28 .11 |
A5 | 2| 1|3 |aliEEaEE P& H 28|10 4 [38.12.31| BEHE |memwrenon| 28 1.1 29 .1.1 | %
Al5] 2|13 |AiFHHAE # B H 2910 #]39.12.31) BESE |menmcrrr29 11) 30 .11 ]
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